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Q1a


Q1b  Graphics calculator.
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Q1c  weight; heights.

Q2a  
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Q2b  
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Q2d  % of males overweight 
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% of females overweight 
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Q2ei  Approximately the same mean and inter-quartile range

Q2eii  Mean BMI for males 
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Q2eiii  The mean is the sum of the data divided by the number of data. It takes into account every individual value of the data set. Median is the middle value of the sample and is not affected by the variations of other values in the data set as long as the median remains the median,

e.g.     1, 1, 2, 5, 6    median = 2, mean = 3

           2, 2, 2, 7, 7    median = 2, mean = 4

( the mean gives a better indication.

Module 1:  Number patterns and applications

Q1a  
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Q1b  Annual % increase 
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Q1c  Number produced in year 5: 
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Q1d  Total in the first ten years: 
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Q1e  
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(2) – (1), 
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Substitute (3) in (1), 
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Q2a  Cost 
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Q2b  
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Q2c  Number of outlets 
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Cost 
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Q3a  
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Q3b  
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Module 2:  Geometry and trigonometry

Q1a  
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Q1b  Pythagoras’ theorem:
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Q1c  The cosine rule:
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Q1d  

Area 
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 EMBED Equation.3  [image: image37.wmf](
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Q2b  The sine rule: 
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Q2c  
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The sine rule: 
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Q3a  
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Q3b  Let P be the mid point of XY, ZOP is a straight line. 
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Q3c  Area of 
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Area of circle 
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The ratio 
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Module 3:  Graphs and relations

Q1a  When 
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Q1b  
[image: image61.wmf]3000

2400

8

£

+

x

, 
[image: image62.wmf]600

8

£

x

, 
[image: image63.wmf]75

£

x


( max number of shirts = 75.

Q1c
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Q1d  Read from graph, 
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Q1e  
[image: image66.wmf]C

R

P

-

=

, 
[image: image67.wmf](

)

2400

8

23

+

-

=

x

x

P

, 
[image: image68.wmf]2400

15

-

=

x

P


Q1f  When 
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Q2  
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Selling price for each 
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Q3a  For 
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Q3b
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Q3c  
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The first equation is for 
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From second equation, 
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Module 4:  Business-related mathematics

Q1ai  
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Q1aii  
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Q1bi  
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Q1bii  Because the same interest rate is applied on the initial amount throughout the term of the loan even though the principal is reduced for each monthly repayment.

Q1c  Let P be the price before GST, 
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Q1d  Flat rate method:

Total depreciation 
[image: image91.wmf]390

$

5

100

12

650

=

´

´

=


Reducing balance method:

Total depreciation 
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( Flat rate method gives greater total depreciation over five years.

Q2a  
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Q2b  
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Q2c  
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Q2d  
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Anna paid off the loan by 
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Q2ei  
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Q2eii  
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Module 5:  Networks and decision mathematics

Q1ai

                              6          8

             Q      7                              7         7       W
                                          7      4

Q1aii  7 + 6 + 8 + 7 + 4 + 7 + 7 = 46 km

Q1bi  A Hamilton circuit

Q1bii  
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Q2b  Start-B-C-E-G-J-K-finish,

Q2c  5 + 2 + 6 + 2 = 15 hours

Q2di  Activities B and F because they are part of the critical path for the modified project. A remains the same because the earliest start time for F is 6. E also remains the same because the earliest start time for I is 10.

Q2dii  1 + 2 = 3 hours

Q2diii  
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   Please inform mathlinE 
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   re typing or mathematical errors.
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